
�����������	 
�����	 �����
� � �����������

����

������������ ������� � � �� �! �� �" #��� ��$ %� & � ' � ( � ) � *+�,���� # * *�-.
��+��� +��/��� ��$ 0 1�*��2 3�*�4�2 5�$��*3 + � 6$ � + 0 7�*�4�2 ���3.
5��

ρ
*��2 *$� 6$ � + � 5�$��*32 ������8  *� 3 *�2�� 0 9 3�" ���$8�2-

���3,��8 � ��� *�!�-�� + "�5�#$���� � 6$ ���� � ������8 ��+�� �2� 0 ���.
�2 *��2 + ��$ :3����� � 3�*�4�2 ; + ��������3�� 0 <2���$��8 #3�+�*���4=
����4 ������2

µ
+ > 3�4$�

T = µv2
1
/2

� :* �
v1

; �� 3 ��8 :34"� % ?�$� 5���3�
5�$��*3� %@ 0
A BC DEFGH I JK J LMNMOP QR STRUTSPOTVWRX YTZM[PWT V UT\ T[P]YP ^ _ `abc dde f g eh
ijLgklmjln op dp e q ors t e uV edddv

wxyxzx {{ |}| ~�� E� GH I ECE�

α
�

�

�
� �

-F

R1 = 2
n
r1 = 1

n
ρ1 = 2

n
R2 = 3

n
r2 = 2

n
ρ2 = 2

n
R3 = 2

n
r3 = 1

n
ρ3 = 1

n
R4 = 4

n
r4 = 1

n
ρ4 = 3

n
m1 = 20

n
m2 = 12

n
m3 = 8

n
m4 = 7

n
m5 = 1

e
wxyxzx {{ |� | � ��C ��GH ����D� EH

�
�

� � �
-F

R3 = 2
n
r3 = 1

n
ρ3 = 1

n
R4 = 2

n
r4 = 1

n
ρ4 = 1

n
m1 = 15

n
m2 = 12

n
m3 = 8

n
m4 = 48

n
m5 = 32

e
wxyxzx {{ |{ | � GC BDGHE � �C GFB�E

�
�

�
�

�
-F

R3 = 4
n
r3 = 1

n
ρ3 = 3

n
R4 = 3

n
r4 = 1

n
ρ4 = 2

n
m1 = 20

n
m2 = 10

n
m3 = 8

n
m4 = 12

n
m5 = 2

e
wxyxzx {{ |� | �C GH�BFE � E� �C B�

α
�

�
� � �

��

? M

R1 = 2
n
r1 = 1

n
ρ1 = 2

n
R2 = 3

n
r2 = 2

n
ρ2 = 3

n
R3 = 2

n
r3 = 1

n
ρ3 = 1

n
R4 = 2

n
m1 = 4

n
m2 = 4

n
m3 = 64

n
m4 = 128

n
m5 = 128

e



wxyxzx {{ |� | �E�HG� � �B�C B�

�

�
�

� �
��

?
M

R2 = 4
n
r2 = 2

n
ρ2 = 3

n
R3 = 5

n
r3 = 2

n
ρ3 = 4

n
R4 = 2

n
r4 = 1

n
ρ4 = 1

n
m1 = 2

n
m2 = 4

n
m3 = 196

n
m4 = 441

n
m5 = 882

e
wxyxzx {{ |� | � ���GHE ~�BFE

�

�
�

�
�

-F

R2 = 4
n
r2 = 2

n
ρ2 = 3

n
R3 = 4

n
R4 = 3

n
r4 = 2

n
ρ4 = 2

n
m1 = 6

n
m2 = 24

n
m3 = 48

n
m4 = 100

n
m5 = 100

e
wxyxzx {{ |�| � ��BF ~� ��DEF�C

� �

α

� � �
-F

R1 = 2
n
r1 = 1

n
ρ1 = 1

n
R2 = 4

n
r2 = 2

n
ρ2 = 3

n
R3 = 4

n
r3 = 1

n
ρ3 = 3

n
R4 = 4

n
m1 = 4

n
m2 = 32

n
m3 = 36

n
m4 = 9

n
m5 = 18

e
wxyxzx {{ |� | I EC ��D��HE ~�BFE

� �

α

� � �
-F

R1 = 2
n
r1 = 1

n
ρ1 = 2

n
R2 = 4

n
r2 = 2

n
ρ2 = 3

n
R3 = 2

n
r3 = 1

n
ρ3 = 1

n
R4 = 2

n
r4 = 1

n
ρ4 = 1

n
m1 = 4

n
m2 = 96

n
m3 = 36

n
m4 = 27

n
m5 = 2

e
wxyxzx {{ |� | ��C ���H ~� ��DEF�C

�

�
�

�

�
-F

R2 = 4
n
r2 = 2

n
ρ2 = 3

n
R3 = 4

n
r3 = 2

n
ρ3 = 3

n
R4 = 4

n
r4 = 2

n
ρ4 = 3

n
m1 = 2

n
m2 = 20

n
m3 = 64

n
m4 = 144

n
m5 = 72

e



wxyxzx {{ |}� | �G� E ��E�BD� EH

�
�

�
� �

��

?
M

R3 = 5
n
r3 = 2

n
ρ3 = 4

n
R4 = 3

n
r4 = 1

n
ρ4 = 2

n
m1 = 14

n
m2 = 10

n
m3 = 36

n
m4 = 108

n
m5 = 16

e
wxyxzx {{ |}}|  G� BFE ~� �FE

�

�

� � �
-F

R2 = 4
n
r2 = 2

n
ρ2 = 3

n
R3 = 3

n
r3 = 1

n
ρ3 = 2

n
R4 = 4

n
r4 = 2

n
ρ4 = 3

n
m1 = 2

n
m2 = 8

n
m3 = 16

n
m4 = 192

n
m5 = 32

e
wxyxzx {{ |}� | ¡�G¢�GH ~C� ��

� �

α

� � �
��

?
M

R1 = 2
n
r1 = 1

n
ρ1 = 1

n
R2 = 4

n
r2 = 2

n
ρ2 = 2

n
R3 = 4

n
R4 = 3

n
r4 = 2

n
ρ4 = 2

n
m1 = 4

n
m2 = 96

n
m3 = 8

n
m4 = 75

n
m5 = 100

e
wxyxzx {{ |}{ | £ �D� �C B�GHE ¤ �E� �C BFE

α
�

�
� �

�
-F

R1 = 2
n
r1 = 1

n
ρ1 = 1

n
R2 = 3

n
r2 = 2

n
ρ2 = 3

n
R3 = 5

n
r3 = 2

n
ρ3 = 4

n
R4 = 4

n
m1 = 4

n
m2 = 12

n
m3 = 16

n
m4 = 128

n
m5 = 128

e
wxyxzx {{ |}� | ¥ D�C �¦GHE � E� �F�BFE

�

�
�

�
�

-F

R2 = 4
n
r2 = 2

n
ρ2 = 3

n
R3 = 2

n
r3 = 1

n
ρ3 = 1

n
R4 = 4

n
r4 = 1

n
ρ4 = 3

n
m1 = 6

n
m2 = 16

n
m3 = 54

n
m4 = 576

n
m5 = 256

e


